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Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 70819114833 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
4

The value of the integral _”9 J-"|dJL' is :
—4

Options :

o
L3 | b
-

70819149441.

70819149442, 3

70819149443.

70819149444, =

Question Number : 1 Question Id : 70819114833 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



flo-22|dx 3 sapen, 3P
-4
Options :
12
70819149441.
122

70819149442, 3

70819149443, 3

70819149444, -

Question Number : 2 Question Id : 70819114834 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The sum of infinite number of terms of a Geometric Progression is 3 and the sum of the

squares of its terms is . The sum of the cubes of its terms is :

Options :
el
13
70819149445,
108

70819149446, 13

m| =

70819149447.

5
70819149448, 7



Question Number : 2 Question Id : 70819114834 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TER030 FeROD ©FOZ FOP0D TANY BweS 3 D LU0 JIT JInF - SN, ¥T0 TITT

b | e

TN :

Options :
31
13
70819149445.
108

70819149446, 13

m|5:ﬂ

70819149447

e
70819149448, 7

Question Number : 3 Question Id : 70819114835 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following Boolean expression is a tautology ?
Options :

70819149449, P =P V4

70819149450, (P79 =P

70819149451, P~ PV a) v (~q)



20819149452, (P ¥ "P)~ (@ v (~q))

Question Number : 3 Question Id : 70819114835 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o ) e,

S9NT WRIORT LRRS oY PR (tautology) CSRAT ?
Options :

70819149449, F =P V4

70819149450, (P~ D =P

70819149451, P~ PV @) v (~9)

20819149452, PV ~P) A (q v (~9))

Question Number : 4 Question Id : 70819114836 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let |a| <1, [bl<1, |c|<1 and x=la",y= l b" z= Zc". If

n _-{] n:{] n :{]

:

1
x Y are in Arithmetic

ra | =

Progression, then :

Options :

70819149453, & b and c are in Arithmetic Progression

70819149454 a, b and c are in Geometric Progression

70819149455, & 2b and ¢ are in Arithmetic Progression

! : 5 | T
70819149456, & b and ¢ satisfy 2b-=ac



Question Number : 4 Question Id : 70819114836 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
s ] a0 o
OBR3 a|<1, [b<1, ||<1 303 x=) a", y=) b",z=) " womd Fe§ v v

n=[ n=(0 n=(

i
ok
Py | =

L e

ne SG00 :

0 o ol ol el
e o IR

(€

Options :
a, b @B c A[WOST JeRODY (AP).

70819149453,

a,b ma;c nish o030 Fedon s (GP).
70819149454, '

a, 211&“‘3.;(: neh TZR0BT JeR0LISE (AP).
70819149455, -

a,b EE»; ¢ 2b?=achi ?ics&%jmﬁ:i
70819149456.

Question Number : 5 Question Id : 70819114837 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ih\zl?nIS

= nl is equal to :

n
Options:

70819149457, 19e+5

70819149458, 19¢—5

70819149459, 16e—5



70819149460, 16€—7

Question Number : 5 Question Id : 70819114837 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

' 2112

>

n=1

+Fm+5
et

D%, A[NB -

¢(“1

n!
Options :

70819149457, 19e+5

70819149458, 19e¢—5

70819149459, 16€—5

=]

70819149460, 16€-

Question Number : 6 Question Id : 70819114838 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The least positive integral value of A such that 1070+ (3% (4)°2)+ A is divisible by 9 is :
Options:

70819149461, 2

70819149462.

|

70819149463.

70819149464, 1



Question Number : 6 Question Id : 70819114838 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TOF RT0IE wARE, BSIR A, 100+ (3 X (4)7) +2, 9 00T FPNIVTTNG :
Options :

70819149461, 2

[F5)

70819149462.

! |

70819149463.

70819149464, 1

Question Number : 7 Question Id : 70819114839 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

There are 4, 5 and 6 points on the three parallel and co-planar lines. If no set of four or more
points is cyclic and no set of three points lying on distinct lines is collinear, then the number
of circles passing through exactly three points is :

Options :

70819149465, 455

70819149466, 421

70819149467, 435

70819149468, %1



Question Number : 7 Question Id : 70819114839 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

R AFRT0IC W), WFAWIQ TeBNTY 4, 5 DR, 6 WO, SO BT THP
RomINY 9BIFINQOTT WA LPF, TeLnYY AT VODNY RFTe deedRORT
(ASRF TRENOEFEY) SNLDTED. Sn MR LODNY MEOF TDRIRMIT. [OOD
70, :

Options :

70819149465, 455
70819149466, 421

70819149467, 435

70819149468, **1

Question Number : 8 Question Id : 70819114840 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ar —b )
Ify= —_1] has an extremum at the point (2, —1), then the values of aand b are:

(x—1)(x
Options:

70819149469, =1, b=0

70819149470, 2=0 b=1
70819149471, a=0, b=-1
a=—1, b=1

70819149472,



Question Number : 8 Question Id : 70819114840 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ar—b S — . -
o e 2, 1), 30008, «0d a D@ b 3 B30
: ; \ 2
Options :
70819149469, =1, b=0
70819149470, a=0 b=1
70819149471, a=0, b=—1
70819149472, 2= ~ L b=1

Question Number : 9 Question Id : 70819114841 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The distance between the planes ? {2.:'. [ ; Bk +5=0 and ? I,ﬁl;" | ’J,), (—,k| F2=01s:

Options :

70819149473, 13
70819149474, 4

70819149475, Y

70819149476.



Question Number : 9 Question Id : 70819114841 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
7|20 +j-2k) +5=0 o T- |61 +3]-6k)+2=0 3 xdIone IBDIF L0 :

Options :
2

70819149473, 13

15
70819149474, 4

13
70819149475, ¢

E

70819149476, -

Question Number : 10 Question Id : 70819114842 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

5
The probability of solving a problem in Mathematics by two students X and Y are 1 and 5

respectively. If both of them try to solve the problem independently, then the probability
that the problem will be solved by exactly one of them is equal to :

Options :
L
70819149477, 20
Sl
20
70819149478.

70819149479.



.

70819149480. 20

Question Number : 10 Question Id : 70819114842 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

el o e, gl e P gl g, ey - e gyl ey 7 el i, g, e, i, e, T LS

NEEERANY R00M, (FRLLNT) QU RGN e X =3 Y - 23 —.

= < s Gl SR P

el e e, ol e ol T g e e s me g a el am g T e, £ el e g, e DO

WAk AUGIWEILS, Dol fdl by AllddAllbeodd, Dol et wJUWUAILY sl 3 AW,
iy ] =, o] — o

P D R N O S N 0 . o N T (R A
SwNYY WOWoW, oUWl WORUARW AW 0GRS0 Alwdei Wil &

7
70819149477. 20

70819149478.

70819149479, 20

12

70819149480. 20

Question Number : 11 Question Id : 70819114843 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

i is equal to :

The polar form of the complex number
1—i

Options :



il . - il
cos — +1sin—
> >

70819149481. & =
Cos % i sin%
70819149482. e B
cns'—rr o .'?»inE
70819149483,  * '
cos s i .'ainE
70819149484 ' '

Question Number : 11 Question Id : 70819114843 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FOBeRF RO, 3
® 1—i

Options:

cnsz [ fsinT—'
” ”
70819149481. 5 5

70819149482. &= &

cos — +1 sin—
70819149483, % :

cos L { .'?»inE
70819149484. ' '

Question Number : 12 Question Id : 70819114844 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If the equation of a line which divides the line segment joining the points (I, 0) and (3, 0) in
the ratio 2: 1 and is also perpendicular to it, is ax=7, then the value of a is equal to :

Options:

I3

70819149485.

70819149486, -

70819149487.

70819149488, 1

Question Number : 12 Question Id : 70819114844 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2:1 YTITY (L, 0) D23 (3,0) @oIndR, X, TeLoL RNTW, VPEWR 1B
Y08 OCWIMNTT ANeToRTH axr=7$T0. a § PO
Options:
s
70819149485.

70819149486, -

70819149487.

70819149488, 1

Question Number : 13 Question Id : 70819114845 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Equation of the circle, which is the mirror image of the circle 1%+ y>~2v=0 with respect to
the line x+y=2, is :

Options :
70819149489, ¥ Ty —2x+4y+3=0

3

2+ P —4x—2y+4=0

70819149490.

il ard L oard ) e 10
70819149491, 2@~ +y7) —x+y+1=0

o 2 ST, T al
70819149492, ¥ Ty —2x—4y+3=0

Question Number : 13 Question Id : 70819114845 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

S0 ez FI0 IR Qow 4yt -u=0 IR KowohaTod x+y=2 $hd
Options :

-2 2-— o B il o
70819149489, ¥ Ty~ —2x+4y+3=0

-

x2+y—4x—2y+4=0

70819149490.

SEs e 5
70819149491, 2" +y7) —x+y+1=0

2. S, P il
20819149492, ¥ Ty —2x—4y+3=0

Question Number : 14 Question Id : 70819114846 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



=1 and the circle

Equations of the common tangent of the ellipse
(x+1)2+ (y—1)>=4 are :
Options :

70819149493, ¥13=0 and x~1=0

70819149494, ¥ —3=0 and y+1=0

70819149495, *+3=0 and x—1=0

y+3=0 and y—1=0
70819149496.

Question Number : 14 Question Id : 70819114846 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ot STy J

208, IR, 1Breng Avesds O ;2” P 32” 1203 33+ (-12=4
qw
Options :

y+3=ﬂm&;x—1=ﬂ
70819149493.

x—=3=0= y+1=0
70819149494, &

x+3=[]¢~;.'—'§x—1=ﬂ
70819149495,

y+3=ﬂm&:‘y—1=ﬂ
70819149496.

Question Number : 15 Question Id : 70819114847 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

| 1l a
If A= LJ J , then Ak (keN)is :

Options :

70819149497.

70819149498.

708191494909.

[l ka}
0 0
70819149500.

Question Number : 15 Question Id : 70819114847 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

gl 't a e .
2,000 Beg .-1=|” 08, Ak (ke N) o3 :

Options :

70819149497.

1 k‘a
I &

70819149498.

708191494909.



k ka
0 k.

1 ka
0 0
70819149500.

Question Number : 16 Question Id : 70819114848 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The values of s and t, for which the system of equations
X, +2,1'2+ 3,1'3: 9
xy+3x;+sx3=t

has no solution, are :

Options :

70819149501, $=2, t=13

70819149502, S# 9

70819149503, S=2> t# 13

70819149504, 1 * 13

Question Number : 16 Question Id : 70819114848 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

xl+2,1'2+313=9
Xy +3x, +sx,=t

JRRhe TOTO0HW, BRCLTT
=

b |

SRETTER zmﬁqjca, s @I t N FSoIW :



Options :

70819149501, 5=2, t=13

70819149502, S5

70819149503. °

70819149504, 1 # 13

Question Number : 17 Question Id : 70819114849 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. b 4 1 2x ) : | i 1 ( 2x I
Derivative of tan ‘ 5 | with respect to sin 5 | in (1, ), is:
\1-x"} 1+x" )
Options :
70819149505. :

70819149506, ~ !

70819149507.

-2

70819149508.

Question Number : 17 Question Id : 70819114849 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2% I A
), BoWoDATEOE sin ‘

1
tan ‘ 5 .\ 3
o ) 14+ x )

e~ .-:--'- — ! D ——
O i) {]., '-‘C:I Sy Culma Oy ed B
=] W

4,

Options :



70819149505.

70819149506. ~ !

70819149507.

I

70819149508.

Question Number : 18 Question Id : 70819114850 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

—_  — - =

=1, It a><|,a><c_ t b=10, then

—_ -3 —

Let a, b and ¢ be three vectors such that ‘a‘:

‘_“

a

b

E\J|

—

o
the acute ang_le between a and ¢ is:

Options :

NP

708191495009.

NE

70819149510.

T
q

70819149511.

5
12

70819149512.

Question Number : 18 Question Id : 70819114850 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



2 el R0ITWNE, Fo20 ‘a‘: b 7=l ax[_axc_]l b=0 &30

a WA ¢ IRWIT O BREIY) ¢
Options :

m

b

708191495009.

4

70819149510.

a
3

70819149511.

s

12
70819149512.

Question Number : 19 Question Id : 70819114851 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Solution of the differential equation (1 +y?)dx = (tan~ly—x)dy is :
(where c is an arbitrary constant)

Options :

at -1 —til‘l_lj.,r
70819149513, Y~ 1 tan ytce

- 1 tan 'x
70819149514, Y~ @M Y- 1t ce

_ -1 —t:u‘l_lj.,r
70819149515, Y- tan y-ltce

. ; 1 tan 'y
70819149516, *~ tan y-l-ce



Question Number : 19 Question Id : 70819114851 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o o, o e

Options :

il -1 —til‘l"lj.,r
70819149513, ¥~ 1 tan ‘ytce

s T T
70819149514, Y=t@n y-1tce

_ -1 —tan_lj.;
70819149515, Y- tan y-ltce

70819149516, * =@t Y

Question Number : 20 Question Id : 70819114852 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

.

o : 3 :
The values of x, for which the vectors a = (x>~16)1 t4 j— (x*—~25)k make acute angles with

the (positive directions of) coordinate axes lie in :
Options:

70819149517, 172 —4l < 4. 5]

70819149518, [ =2 4) v (=4, 9]

70819149519, (79 ~4) v (4 9)

70819149520, (>4 2 (=49)



Question Number : 20 Question Id : 70819114852 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A,

—
d
e S60

Options :

70819149517, L =2 —4l <[4, 5]

70819149518, =2 4) v (=4, 5]

70819149519, (75 ~4) Y 4 9)

70819149520, ("> 4 W (—49)

= (x2-16)i +4 - (x* - 25)k R0ZE AdkerTot wndeoL OF decIdm, woL IRRI

Mathematics Section B

Section Id :

Section Number :
Section type :
Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

708191536
2

Online
Mandatory
10

5

20

Yes

1
708191816

Yes



Question Number : 21 Question Id : 70819114853 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

dx 1s
2

Tj M+ cos2x
0 1.|||| <

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 21 Question Id : 70819114853 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

P ]
o o

2

“} T+ cos2x
- Vo2
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 22 Question Id : 70819114854 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The minimum value of 9tan20 +4cot20 is

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count: Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 22 Question Id : 70819114854 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Otan?0 +4cot?03 E-Fl‘«:"ﬁ Zdodn -

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819114855 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

"
The length of the perpendicular from the point (1, 2, 3) to the line = = is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819114855 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

Komd (1,2, 3) LoT Tedr = LoWT VT T, ?

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819114856 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

; 2
If log, 2, log, (2*—5) and log: i Ly L | are in Arithmetic Progression, then the value of x is
3 3 83 ?)

L

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819114856 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

logs 2 Iog, (2~5) 53 logy2° - L] asmo¥y deaonggd (AP ead x 3 o
o)

A\

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819114857 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

i ¢ 132 ¢ V-
If x24+x+1=0, then J11 i| I|1’2
X/

|\

Response Type : Numeric

e
1‘2 g \ o il I
Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819114857 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

200 ¢ a2+x+1=0, 500 Jlfx i"z ||fx2 i| |‘fx3 ile 03
[~ XJ x° ) ]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 26 Question Id : 70819114858 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

x2+y2=4x-2y-11=0 is a circle to which tangents are drawn from the point (4, 5) which
form a quadrilateral with a pair of radii. The area of this quadrilateral in square units is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 26 Question Id : 70819114858 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

12+y2--4x-2y-- 11=0,

(4,5) ROANOT AT, SYOWB! 20T FTWND, AW
2,000 Bl Sgnisweoln ¢

DD HDW, CALWIN. S8 BYAPIFE TOEIP VDT JITRTTY

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819114859 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

If the sum of mean and variance of a binomial distribution is 15 and the sum of their squares
is 117, then the number of independent trials is equal to .

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819114859 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

INY WNFNT @RS 117 &

S Y T

|

—

Question Number : 28 Question Id : 70819114860 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Let the equation of the plane passing through the points (1, 2, 6), (2, 5, 7) and perpendicular
to the plane 4x—y+z=15be ax+by+cz+d=0. Ifa, b, ¢, d= Z with ged (|a|, |b, |c)=1,

then |atb+c+d|isequal to
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 28 Question Id : 70819114860 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
(1,2

-

Zanedtony dv-y+z=15 axtby+cz+d=0 SNd. wom He¥ a, b, ¢, deZ ged
c)=1, =30 a+b+c+d AR

vl ol py e — — — J\u-.\m.

{..,5 H‘JVVUJ'I'&' {L::-:QFFE) W07 Toli@mEMiue Aded

o e, e, el oy

B0L NN AmRELD
(a,

cl!c"'

,6),

r

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819114861 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

e |

—_
i

' -‘ of the equation 4sin®y —8sinx +3=0

3
The number of real solutions in the interval [ e

15 _ -
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819114861 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

3r Tw
Qi 000 5 ROTONTY A0S, ’V —r | AeRET00) 4sin?y —8sinx +3 =10 UHCQ'E

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819114862 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

1110
Ao and

Let A;, Ay Ag o be an increasing geometric progression. If T4 As 6
AzA =441, then 3(A,+A,) is equal to

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819114862 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

"L W
' Ry 6 B AA=UISTE, A +A)

o By v TS 0030 JeRoin Ay 03
N ZS@ehd.

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5 to 5.001

Aptitude Test
Section Id : 708191537
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50
Section Marks : 200
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191817
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 70819114863 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which among the following is the full form of the "UNESCO" ?
Options:

70819149531, United Nations Educational, Scientific & Cultural Organization.
70819149532 United Nations Educational Security Cultural Drgani:zation.

70819149533, United Nations Entrance Site Calling Drga_nizatinn.

United Nations Educational, Sustainable & Cultural Organization.
70819149534,



Question Number : 31 Question Id : 70819114863 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

‘NP AR TOT TOJerer DICW, S FINT =03000T SDORD.
% 2 =\

Options :

20819149531, OO HeWT, QITIS, ATULT WP, IYTT enie Ty
20819149532, COVUETE ST, 2EBEIICT AR IPOT enFaETT
20819149533, CCSRASTE ST, 0T, AEF IO SNiF 5T

20819149534, CPHEE ST, DTS, AR WP, IQTS ene Ty

Question Number : 32 Question Id : 70819114864 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List - I with List - 1L
List - 1

(I)  Hall of Nation (a)

(II) Falling Water, Pennsylvania (b)

(IIT) Petronas Tower (©)
(IV) Secretariat (d)
Options :

20819149535, D-(1), (ID-(), {D-(d), (IV)-(c)

20819149536, D-(0), (ID-(d), (D-(a), (IV)-(b)

20819149537, V@) (ID-(b), (D)-(c), (IV)-(d)



20819149538, OBy (Ha), (<), EV)H{d)

Question Number : 32 Question Id : 70819114864 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

DR0HA LB0WD.
eﬁ&é -1

1) oS oF I (a)

(M) TROOIF T, UTFATT W0  (b)

() BekemeT I (©)

(IV) A3gdedodoes* (d)




Options :
70819149535, (-(b), (ID-(a), (IID)~(d), (TV)-(c)

70819149536 (D-(c), (ID)-(d), (II)-(a), (IV)-(b)

70819149537, (D-(@), (ID-(b), ([D-(c), (IV)-(d)

70819149538, 0P} (1D-(@). (<), AV)-(d)

Question Number : 33 Question Id : 70819114865 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match List - I with List - 1L

List - 1 List - 11
() Kamru (a) Victoria Memorial Hall
(IT) Delhi (b) Badrinath Temple
(IIT) Fatehpur Sikri (c)  Khirki Masjid
(IV) Kolkata (d) Buland Darwaja

Options :
20819149539, D1, (I-©), (D), (IV)-(a)

70819149540, (D-(b), (ID-(d), (T)-(c), (IV)-(a)
20819149541, (D), ()-(a), (D)-(b), (IV)-(d)

20819149542, V() (-(@), (M(d), (IV)-(c)

Question Number : 33 Question Id : 70819114865 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

SDROBA w3owd.

=ed - 1 =3 - 11

(1) FDD (a) QBReO0ID DBROODS FTooF
(I @9 (b) 28T cﬂfam-—%ﬁ

() FB3eBHT A (c) DT AT*

(IV) é.ret%?i (d) 2WVOTF TT =l

Options :

0815149535, D-(B), (D-(©), A-@), (V)

70819149540, D-(b), (ID-(d), (IM)~(c), (TV)-(a)

20819149541 D-(0), (ID-@), (LD-(b), (V)-(d)

70819149542, (D-(b), (I)-(a), (ID)-(d), (IV)-(c)

Question Number : 34 Question Id : 70819114866 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List - I with List - 1L
List - 1 List - 11

() Agra fort (a)
(II) Atala Masjid (b)
(Il Nalanda University (c)
(IV) Jagannatha Temple (@
Options :

20819149543, (), (ID-(c), (ID)-(a), (IV)-(d)

20819149544, (D-(@), (ID-(b), [D-(c), (IV)-(d)

70819149545, W9 (D)-(@), (D-(d), AV)-(b)

70819149546, V) (ID-@), [I)~(c), IV)-(d)



Question Number : 34 Question Id : 70819114866 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

DROOA 20T,

T - 1
() o, deced (a)
() ©Bo A (b)

(I SO0 DJLTLOR (c)

(IV) &RRF® zﬂeﬁmﬁp ] (d)

Options:
70819149543, (D-(b), (ID-(¢), (ID)-(a), (IV)-(d)



70819149544, (D-@), (ID-(b), (ID)-(c), IV)-(d)

20819149545, (-(¢) (IN)-(a), (IID)-(d), (IV)-(b)

70819149546. (0)-(b), (I)-(@), (ID)-(c), (IV)-(d)

Question Number : 35 Question Id : 70819114867 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - II.

List - 1 List - 11
(I) Yadvindra Garden (a) Manali
(IT)  Vishnu Temple (b) Amritsar
(ITI) Hidimba Temple (c) Pinjore
(IV) Hari Mandir (d) Buniyar
Options :

70819149547, (D€} (DH(@d), AD-(b), (IV)-(a)

20819149548, (D-(€), (ID-(d), (IN)-(a), (IV)-(b)

20819149549 (D), (ID-(b), ()~(c), (IV)-(a)

70819149550, (D-(b), (I)-(d), (IM-(a), (V)-(c)

Question Number : 35 Question Id : 70819114867 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



TROOE LToWD.

WY -1 e - 1
() ONTFUOT, YNTRIFT (a) =D
(I 2= Cﬂrfam’-‘amﬁ (b) ©=ZAC
(II) @O cﬂfm-amsd (c) &0ERT
(IV) &0 =HohdT (d) 2003RO*
Options :

70819149547, (D-€), (-(d), (D-(b), IV)-(a)

70819149548, (D-(c). (I)-(d), (I)-(a), (IV)-(b)

20819149549, D)., (ID-(b), (ID-(c), AV)-(a)

70819149550, (D-(b), (ID-(d), ([ID-(a), ([V)~(c)

Question Number : 36 Question Id : 70819114868 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - 11.

List - 1 List - 11
(I)  Mehrangarh Fort (a) Hyderabad
(II)  Siri Fort (b) Kolkata
(IIT) Golconda Fort (c) Delhi
(IV) Fort William (d) Jodhpur

Choose the correct answer from options given below :
Options :
20819149551, (D-(@), (D)-(d), (ITD)-(b), (TV)-(c)

20819149552, (D-(d), (ID)-(c), (ID)-(a), (IV)-(b)

70819149553. {I}-{d:}, {H]-{C}, (III}-(b}r (IV]-{E[:]



Question Number : 36 Question Id : 70819114868 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

TRoDA wdowd.

ﬁ'é_:-u“;-l 3 - 11
() ST NG Fweetd (a) aﬁ&’dmmaf
(I) a0 3wedd (b) Beeyse

() Ardnod g () BD

(IV) PeeFs 29odo (d) Heextzbo*

39R Bniidhs wonvon XoolRE wuEsHE, ©da IO,
Options :

20819149551, (D-@), (@), (I-(b), (IV)~(c)

20819149552, (D-(d), (ID-(c), (IID)-(a), (IV)-(b)

20819149553, (D-(d), (ID)-(c), (LD)-(b), (IV)-(a)

20819149554 0@, (D-(b), (HD-(d), IV)~(c)

Question Number : 37 Question Id : 70819114869 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Book ‘God of small things’ is written by which Indian Architect ?
Options :

70819149555, B-V. Doshi

70819149556. Arundhati Roy



20819149557 Revali Kamat

70819149558, Dimal Patel

Question Number : 37 Question Id : 70819114869 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

“meEt o AR Qo™ How TATBI, 0T Hoosd 2039 oD 9
Options :

70819149555, -2 TaREd

oy i ! - <
70819149556, ©OPS To0d

70819149557, OtPS TOROT

70819149558, WD Tede*

Question Number : 38 Question Id : 70819114870 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
‘Tharokha’ is a type of window mostly found in :
Options :

70819149559, Suiarat

70819149560, 'Vest Bengal

70819149567, lamil Nadu



70819149562, Rajasthan

Question Number : 38 Question Id : 70819114870 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

& ORETD ﬁ-’ej-:flloda 3L3B0DT, B3 Eaﬁiﬁ R TRWIT ?
Options :

70819149559, TOHT3

= omeF
70819149560,

70819149561, o0 FIom

To AR5
70819149562.

Question Number : 39 Question Id : 70819114871 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The monsoon wind enters in Indian sub-continent from which direction ?
Options :

70819149564. South-East side

70819149565, orth side

70819149566, Scuth-West side



Question Number : 39 Question Id : 70819114871 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
[ITRRT MOYORY 0IFWI ﬂéﬁoﬁ gR03T m‘:aﬁ:ﬂoc‘é% LTS

I, Gl
€L
|

Options :
QUBo-TAW DF0T
70819149563. = = v

S2co—mo e Tw
70819149564, Sofe—RR[E DIVCT

VB0-0320T
70819149565. = e

Beco-TB DINOT
70819149566, = = B

Question Number : 40 Question Id : 70819114872 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following building represents the colonial Architectural pattern in India ?

Options:
70819149567, Bharat Bhavan in Bhopal

70819149568 LIC Building in Delhi

70819149569. Charminar in Hyderabad

70819149570. Victoria Memorial in Kolkata



Question Number : 40 Question Id : 70819114872 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

8 39NT oM BuER “Bederdode” MAPLT SRR, BIAHHIS ?
Options :
— el gy - e

70819149567, 008 BRT — GRS

3-'3‘ 1 i -
70819149568, 27 A TEE - OF

ol 'y P e = _—
70819149569, B300 SRRT — HT0RT
0819149570, VERLO0IR WJREVANT — 3R

Question Number : 41 Question Id : 70819114873 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
What is the size of A2 Drawing sheet ?
Options :
70819149571. 420 x 590 (mm x mm)

70819149572, EEX 3T (mmx rmm)

70819149573, 297 ¥ 420 (mm x mm)

70819149574, 20592 (mm x mm)

Question Number : 41 Question Id : 70819114873 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
A2 RO detrs ©wdd oxD ?
Options:

A20) » Fym Tym e Fyn T
70819149571, 4207590 (200,203, >20.0.)

70819149572, 420594 (&2.600. X e®.e0.)

K

297 x 420 (222.e20. X 2.

9
r

N
P

70819149573.

9

420592 (239.=0. *

r
9
r
N
e

70819149574.

Question Number : 42 Question Id : 70819114874 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Victory Tower belongs to which of the following fort :
Options :

70819149575, Chittor fort

70819149576. Jaigarh fort

70819149577 Bhangarh fort

70819149578, ~xmer fort

Question Number : 42 Question Id : 70819114874 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
“030 BO” 81 B9NT BT deetdR B3 9



Options :
SN R 8
70819149575, L5R0 SR

@ o dweced
70819149576, ¢

AT A te i AT
70819149577.

eazdesf dnctd
70819149578.

Question Number : 43 Question Id : 70819114875 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which amongst the following Architect has designed the famous Temple “Akshardham” ?
Options :
70819149579, Samjay Puri

70819149580, Vikram Lall

70819149581, Ashok Lall

70819149582, = “0mpura

Question Number : 43 Question Id : 70819114875 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
aﬂ%wﬁ BT :‘Lfm@odaﬁeisi ORE =ARSDOIN amﬁﬁwm%d ?

Options :



70819149579.

70819149580. -~

70819149581, =

70819149582,

Question Number : 44 Question Id : 70819114876 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

“Volume Zero” Documentary is on which Architect ?
Options :

70819149583. Charles Correa

70819149584, Richard Mier

70819149585. Jasbir Sachdev

70819149586. Ranjit Sabliki

Question Number : 44 Question Id : 70819114876 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

“aﬂuaﬂf 22eB R R0 ;’rg @Y o WAdIoD e «03=NE 9

Options :

e F3RD0®
70819149583. ~



C § 2 orgE
70819149584, DB E S0

70819149585, ®& LT AdTIeD

cozied Aged
70819149586. '

Question Number : 45 Question Id : 70819114877 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
‘Agenda 21" is declaration related with :
Options :

Climate change
70819149587.

70819149588, Clobal warming

70819149589, iEsaiEate: cevelapraent

70819149590, Smart city

Question Number : 45 Question Id : 70819114877 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

23000 21 D0LNTD O3 TeeABA Towohad 2
Options :

70819149587 BRORNT WBLRBE

J

RPTATE g = o £ : - ~ oy .
70819149588, ZONST SVTRWI DOT (MPUS" STOFOTY)



70819149580, AL SRHD (FAZewS BFSOTROE)

WIFE At
70819149590, ¢

Question Number : 46 Question Id : 70819114878 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Gold mines are situated in which state of India ?
Options :

Karnataka

70819149591.

70819149592, Orissa

70819149593, Maharashtra

70819149594, Uttar Pradesh

Question Number : 46 Question Id : 70819114878 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
PoU3E odwes CoxY 88T NdNe ?

Options :

- 1%
70819149591, SO0F &8

o]
70819149592, md

70819149593. =



N33 T3eT
70819149504, Y050 TEET

Question Number : 47 Question Id : 70819114879 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the Southern Hemisphere shadowless light is from which direction ?
Options :

70819149595, North

70819149596, >0uth

70819149597, Cast

70819149598, West

Question Number : 47 Question Id : 70819114879 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

D3 ALERTFTY (RTT'F BaNoRT) S0vY dve CIRT DIN0T wTEH 9
Options :

70819149595, ~ "=
70819149596,

70819149597.

i

70819149598.



Question Number : 48 Question Id : 70819114880 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The first Indian Architect who has won Pritzker Prize in 2018 is :
Options :

i _
70819149599, B-V- Doshi

70819149600, Laurie Baker

70819149601, 2 Rewal

70819149602. Achyut Kanvinde

Question Number : 48 Question Id : 70819114880 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
2018 “Qp330°" a’;p‘,uod;si:w TBT HRTUSCH BRTOIOD wAIO oIRT ?

Options:

LA . 5
70819149599, - DA

70819149600, 20 LeET

~ ogf - ==
70819149607, 0P8 T@RO

93 T O
70819149602. B

Question Number : 49 Question Id : 70819114881 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Word “Bungalow” has originated from :

Options :

70819149603, Bengalurm

70819149604, banaras

70819149605, bengal

70819149606, Darl

Question Number : 49 Question Id : 70819114881 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

“Vonde” TTH) oIRm FITNT JLe3DoT wWohT 72
Options :

L PN
70819149603, SOMPERT=F

L) OO A

70819149604.

4‘,--\. =, =g
70819149605, =°N°%

70819149606, =~

Question Number : 50 Question Id : 70819114882 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The IIM - Ahmedabad is designed by which of the following Architect ?
Options :

70819149607, Laurie Baker

70819149608, Louis Kahn

70819149609, Lutyen

70819149610. Le Corbusier

Question Number : 50 Question Id : 70819114882 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
0.0, (M) eBDTRTD, 8 9T odRT mRdIody HWARRLART ?

Options :

— & .
70819149607, 90 BEET

70819149608, DROR BT

- ]
70819149609, R4

70819149610.

Question Number : 51 Question Id : 70819114883 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



In the given figure, how many squares are present ?

Options :

()

70819149611, 14

3

=

70819149612.

(=1

70819149613, 12

—

70819149614, 18

Question Number : 51 Question Id : 70819114883 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
;B PN efaeﬁéod:,gg_ @Eﬁ& BT (RINF)NPRH 9

Options :
4

(-]

70819149611.

=

70819149612, 13

5

=

70819149613.

8

—

70819149614.



Question Number : 52 Question Id : 70819114884 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A drawing is provided with all the folds to construct the following three Dimensional object.
Select the correct one.

Options :
I e
1 |
70819149615.
I| [
I
I
70819149616.
-
_I .-
| |-
70819149617.

70819149618.



Question Number : 52 Question Id : 70819114884 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
FONT 3B DD, NRFILD Q0 DRINCROON OVOIF W, WHNILNT.
I “ ! - “
ROOIRT @ORON &, 80A WIRNO.
- o,

Options :

70819149615.

70819149616.

70819149617.



70819149618.

Question Number : 53 Question Id : 70819114885 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of an object. Identify the correct view looking in the
direction of arrow, amongst the answer figures.

—KE O
[

Options :

70819149619.

70819149620.



70819149621.

70819149622.

Question Number : 53 Question Id : 70819114885 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

& 903 TF, wEy o dectiad, SR med BIIY Deemtd
AOCIRT Heetidmy, Mo,

—~ KN O
[

Options :

70819149619.



70819149620.
70819149621.
70819149622.

Question Number : 54 Question Id : 70819114886 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of an object. Identify the correct elevation amongst
the answer figures looking in the direction of arrow.

—
I

Options:

70819149623.




70819149624.

70819149625.

70819149626.

Question Number : 54 Question Id : 70819114886 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Bob 2y ST wdg deewmd Zeedm

i) =

o !
W
00T ‘WOBeTT R, NS 3T uivoen ™

= i
I

(£

3

5 SRCEETE

o, T AL
TSR0,

L

Options:

70819149623.

70819149624.



70819149625.

70819149626.

Question Number : 55 Question Id : 70819114887 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of an object. Identify the correct elevation amongst
the answer figures looking in the direction of arrow.

L

T

Options :

70819149627.

70819149628.

70819149629.



70819149630.

Question Number : 55 Question Id : 70819114887 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

q.ﬂod, B3 DA NWIE Ei.rax..,aﬁi 3R00M3T.
DoIRT ‘wdde EJ“TS.; %%Jﬁ‘j NET Qﬁﬁﬁé‘ed YER0.

2"L'

<>

Options :

70819149627.

70819149628.

70819149629.




70819149630.

Question Number : 56 Question Id : 70819114888 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

One of the following answer figures is hidden in problem figure in same size and direction.
Select correct one.

Options :
70819149631. >
70819149632. D
70819149633. v
70819149634 ﬁ

Question Number : 56 Question Id : 70819114888 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
70819149631. >
70819149632. D
70819149633. v
70819149634. ﬁ

Question Number : 57 Question Id : 70819114889 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Oneof the f nllowmg answer figurr_-s ishidden in problem f igure in the same size and direction.
Select correct one.

Options :

70819149635. @



70819149636. Q

70819149637. 6

70819149638. m

Question Number : 57 Question Id : 70819114889 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

#InT w%dﬁ%@ é.ra&é_d.;ﬁ 23;3@'30& E._"g,ﬁdod: B30Y oNTRA S ®EAT. BOOSTN

GBI aﬁgﬁ&w mThe 0.

Options :

70819149635.

70819149637.

™
70819149636. Q
0
N

70819149638.

Question Number : 58 Question Id : 70819114890 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Cmndﬂmfdbwﬁgammmﬁ%umsEthmnnﬂmpﬁmhmﬁgmemsmmmHDMMdﬁmﬁmL
Select the correct one.

Options:

70819149639.

70819149641.

N
A
>

70819149642.

Question Number : 58 Question Id : 70819114890 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
BUNT UETNYY SRLIOR wZHpoth TJOD wIIY obgead wEND.  ROCIRN

3 - — 1 L

BT R, THOSAO.

Options :

70819149639. :



70819149640. i
70819149641. :

70819149642. [>

Question Number : 59 Question Id : 70819114891 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

One of the following answer figures is hidden in the problem figure in same size and direction.
Select the correct one.

Options :
70819149643. D
70819149644. D
70819149645. O
70819149646. ;

Question Number : 59 Question Id : 70819114891 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
YRS ITNYY m%{m WIHpoth THOL 8ZTY obiRAs @BENE.  ROOSRA

A o o it

SBTH 23D, HOSO.

Options :
70819149643. D
70819149644, D
70819149645. O
70819149646. ;

Question Number : 60 Question Id : 70819114892 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which one of the answer t’igurr_-s is correct mirror image of prnblc-m figuro with respect to
XX ?

[

[

Options :



70819149647.

70819149648.

70819149649.

arf e ) o

70819149650.

Question Number : 60 Question Id : 70819114892 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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X
[
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X
Options :
]
70819149647.
[]
[ 1]
70819149648.
[]
]
70819149649.

70819149650.



Question Number : 61 Question Id : 70819114893 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the answer figures is the correct mirror image of the problem figure with
respect to X-X ?

N\
A
N

70819149653.



P,

)
V

oN

70819149654,

Question Number : 61 Question Id : 70819114893 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

XX7# Rowoprmod TBoh w3 sh XociRN Berws WA wIDD, SRS 3o
UeSD, dwed HDHSAO.

X X

Options :

70819149651.

70819149652.



(e
3

A
\
70819149654.

Question Number : 62 Question Id : 70819114894 Question Type : MCQ Option Shuffling : Yes

¥,

70819149653.

N2

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the answer figures is the correct mirror image of the problem figure with
respect to X-X ?

7 X
Y/INN

/
N X

Options :

70819149655.



s s

P s g

70819149656.

/
PR

>

70819149657.

N
V%

N4
/AN

70819149658.

Question Number : 62 Question Id : 70819114894 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
i
L N\Y
P
70819149655. //
L
NV
o
70819149656. f/
N
P
\/
70819149657. KXT\\

70819149658.

Sl

N4

/N




Question Number : 63 Question Id : 70819114895 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the answer t’igures complete the sequence of the prnh[em t’igure 7 Select the

n}g?
I
DA
b

N
S

Options :

70819149659.

70819149660.

70819149661.

70819149662.

Question Number : 63 Question Id : 70819114895 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



8UNT o3 ¥y XooimN, TIoLJNT UPE WMEDID, TeerArYBET.

?
Options :
74
70819149659.
70819149660.
70819149661. ‘
70819149662. |

Question Number : 64 Question Id : 70819114896 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/

Options :

70819149663.

70819149664.

70819149665.

70819149666.

Question Number : 64 Question Id : 70819114896 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



BUNT 33 ¥R [WAT IRLTW, IPOWIT. W3 0339 SRETETD
AHOodRE deetism, wﬁd WENYon MT8AD.
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Options :

70819149663.

70819149664.

70819149665.

70819149666.

Question Number : 65 Question Id : 70819114897 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

3

%

Options :

70819149667.

70819149668.

70819149669.

70819149670.



Question Number : 65 Question Id : 70819114897 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
UNT 30’ WSy TWAT SR, 30OWIT. T DITY FeeBDIBT

< = El

HOOIRT ey w3 WERYOT MTHSAD.

\N

7

Options :

70819149667.

70819149668.

708191496609.

70819149670.



Question Number : 66 Question Id : 70819114898 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

Options :

70819149671.

[ ]

70819149672.



70819149673.

70819149674.

Question Number : 66 Question Id : 70819114898 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
NS 8oy IRNT dectiT, Se0IT. WD DIIY JRBITF BORT
DRCITR, ST UERV0T HTLED.

-

Options :

70819149671.




70819149672.

70819149673.

70819149674.

Question Number : 67 Question Id : 70819114899 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/!

Options :

70819149675.



70819149676.

70819149677.

70819149678.

Question Number : 67 Question Id : 70819114899 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TUAT 30 83T INIT JecuDD, 30T,  med BIFY Jee@ENT
AOOIRE DRETT, W8T WERY0T MTERD.

/1

Options :

70819149675.

70819149676.



70819149677.

70819149678.

Question Number : 68 Question Id : 70819114900 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/!

Options :

70819149679.

70819149680.

70819149681.



70819149682.

Question Number : 68 Question Id : 70819114900 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

§9NT 36 wZron) SANT eI, d0WIB. WD DY JRCBENT WU
ﬁjﬁﬁ?c d."“mr.}

/I

Options :

70819149679.

70819149680.

70819149681.

70819149682.



Question Number : 69 Question Id : 70819114901 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

%

Options :

70819149683.

70819149684.

70819149685.

70819149686.



Question Number : 69 Question Id : 70819114901 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

30N ‘33 w3 JIaS FeeN®, 3pe0RIT.  men 03N Fne@dEdw
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Options :

70819149683.

70819149684.

70819149685.



70819149686.

Question Number : 70 Question Id : 70819114902 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/

Options :

70819149687. '

70819149688.

708191496809.



70819149690.

Question Number : 70 Question Id : 70819114902 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
NS 3’ 233ree) WA Eﬁm@iﬁéﬁi 3ne0R3TE.  wmend Cﬁ%&ﬂ@ﬁ SREEEH
HOOIRT Seetimm, G WIRYOT MIELD.

£

Options :

70819149687. '

70819149688.

70819149689.

70819149690.



Question Number : 71 Question Id : 70819114903 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/I

Options :

70819149691. —I

70819149692. l

70819149693.

70819149694.



Question Number : 71 Question Id : 70819114903 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3RS 30’ SRy R drehaﬁi 300 Ed woeedd 033 Ej.r‘rfCSJ:ﬁuaﬂ
ROOINT Sek ES‘L N3 d ﬁufﬁ% d mhaud.

Vi

Options :

70819149691. —I

70819149692. l

70819149693.

70819149694.



Question Number : 72 Question Id : 70819114904 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

y

4

Options:
70819149695.
70819149696.

70819149697.



70819149698.

Question Number : 72 Question Id : 70819114904 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

9N 3@’ 1By ES’%-:.JES Eﬂﬁf%&d&i}q éﬂfaﬁ‘iﬂ. AR @’&&Ejfi Eﬁﬁf&g&&ﬂ
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Options :
70819149695.
70819149696.

70819149697.



70819149698.

Question Number : 73 Question Id : 70819114905 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

Options:

|
70819149699. L

L
70819149700. | I

70819149701.



70819149702. |

Question Number : 73 Question Id : 70819114905 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

8ONT 33" wZRE) [WIT SeeumD), 30e0MIW. T DIZY See@DET
ROCIRE Sweetisa, $U8T 83Rv0n MTHER0.
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Options :

|
70819149699. L

|
70819149700. | |

70819149701.



70819149702. |

Question Number : 74 Question Id : 70819114906 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

7

Options :

70819149703.

70819149704.

70819149705.



70819149706.

Question Number : 74 Question Id : 70819114906 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
39N 3’ Wy DAID IO aﬂ‘i; 30e0R3T.  mend AL BREEE TR
ROCIRT Eﬂﬂf@id?ﬁi &“uai BEneon ’d.,éu

4

Options :

70819149703.

70819149704.

70819149705.

70819149706.



Question Number : 75 Question Id : 70819114907 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct top view, amongst the answer
figures.

Options :

70819149707.

70819149708.

708191497009.

70819149710.



Question Number : 75 Question Id : 70819114907 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
SONT 30 UEey) IS JeiTI), pcdIT.  XORE WIZ JeeE

39T 0BT BIHOT TSRO,

Options :

70819149707.

70819149708.

708191497009.

70819149710.



Question Number : 76 Question Id : 70819114908 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct top view, amongst the answer
figures.

Options :

70819149711.

70819149712.

70819149713.

70819149714.

Question Number : 76 Question Id : 70819114908 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



BUNT 33’ 83wy TWIT SewdmD, decdwIW.  A0IRT WHE DeckiEm,
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Options :

70819149711.

70819149712.

70819149713.

70819149714.

Question Number : 77 Question Id : 70819114909 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct top view, amongst the
answer figures.



Options :

70819149715.
|_|_‘
70819149716.
L[__
70819149717.
|_r
70819149718.

Question Number : 77 Question Id : 70819114909 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

39NT ‘33’ u3nm IR JeeidT, 20edH3E.  T0odRT RE FeewiEm,
== . a 5 L “
39N VST WIYOT OO,

Options:

70819149715.



70819149716.
70819149717.
70819149718.

Question Number : 78 Question Id : 70819114910 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Identﬂ'}-' the buﬂding compositions of having less visual tension amongst the fo[lowing figurcs.

(A) (B)
(C) (D)
Options :

70819149719, () and (B)

(B) and (C)
70819149720.

70819149721, (©) and (D)

70819149722, (D) and (A)



Question Number : 78 Question Id : 70819114910 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

& $¢NT odwa IWAEAD Hoodeexdodw IRH Tmeed wdns TFIW,
BRODES 9

(A) (B)
(© (D)
Options :

70819149719, (A) 923 (B)

wghy
20819149720, (B) ¥, (©)

70819149721, (©) 3%, (D)

70819149722, (D) 2 (4)

Question Number : 79 Question Id : 70819114911 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of an object. Identify the correct elevation amongst
the answer figures looking in the direction of arrow.




Options :

Il
70819149723.

70819149724.

70819149725. |_ |_| |_|

70819149726.

Question Number : 79 Question Id : 70819114911 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

I
70819149723. |-|-

70819149724,

70819149725.



70819149726.

Question Number : 80 Question Id : 70819114912 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The prohlem t’iguro shows the top view of an ohject. ldontﬂ'}-' the correct elevation amongst
the answer figures looking in the direction of arrow.

[
\

Options :

70819149727.

70819149728.

70819149729.



70819149730.

Question Number : 80 Question Id : 70819114912 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819149727.

70819149728.



70819149729.

AN
N/

70819149730.

Planning
Section Id : 708191538
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 25
Number of Questions to be attempted : 25
Section Marks : 100
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191818

Question Shuffling Allowed : Yes



Question Number : 81 Question Id : 70819114913 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of these industries did not exist in London before the first world war ?
Options:

70819149731, Automobile

70819149732, Clothing and Textile

70819149733, Lrinting

70819149734, Iron and Steel

Question Number : 81 Question Id : 70819114913 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

WY, WNeT oNGE BRTN “woRT” INTBY & AT o ﬁamﬁé eoTrisd

& 4

estinesind of
70819149731. o

DA WA BRY
70819149732, = =
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QUE, =D TEIED
70819149734, v = w



Question Number : 82 Question Id : 70819114914 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A carbon footprint is the amount of _____ released into the atmosphere.

Options :

70819149735, Nitrogen

70819149736, Greenhouse gas

70819149737, Ozone

70819149738, Suspended Particulate Matter (SPM)

Question Number : 82 Question Id : 70819114914 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

maaﬁds@ﬁ; R@NBEOIRE @ms@aaﬂ “RUFD PREFL0ETT Q0T
FoHRTHIT.
Options :
pIeaat:)
70819149735.

70819149736, DV OO (AT IFE MRE

70819149737, SR

BN DOoTOZ Fe (SPM) (RFFJ0RE [T URSEF SIRETY)
70819149738. =~ -

Question Number : 83 Question Id : 70819114915 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A. KodaiKanal
Kullu
Mount Abu

Panch gani

Mg 0w

Pahalgam
Arrango the above hill stations in the correct sequence from south to north in India.

Choose the correct answer from the options given below :

Options :
70819149739, E7D—=B—-A—=C

70819149740, E7B—=C—=D—A

70819149741, € A —=B—=D—>E

70819149742, 2 7D —=C—B—E

Question Number : 83 Question Id : 70819114915 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
A daggme

B. ®e (Kullu)
C. D[POLF @
D. Zowma

E. ZTxomss

PTRY Cﬁiﬁ:&f}d @”ogdé& DT THFS Feednids D, RO0IRT Ferdobox, m;_ma
t*foi%mfg 200300 emz_pam& 503,

Options :
70819149739, E7D—=B—- A= C

70819149740, E7B—=C—=D—A



70819149741, € A —=B—=D—=E

70819149742, 2 7 D= C—B—E

Question Number : 84 Question Id : 70819114916 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Planning Commission in India has been replaced by :
Options :
70819149743, Mo HUA

70819149744, NITT Aayog

70819149745, NIUA

70819149746, T

Question Number : 84 Question Id : 70819114916 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

& 9NT oln ﬁfoﬁrécmod §RU3TY ‘olpexm &O&mﬁ’ﬁ&jﬁ &ﬁm&%ﬁq@cﬁ ?

Options :

70819149743, Mo HUA

70819149744, NITTS03R¢ET

70819149745, NIUA



70819149746. 2

Question Number : 85 Question Id : 70819114917 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

When was the special Economic Zone's Act enacted in India ?
Options:

70819149747, 2005
70819149748, 2007

70819149749, 2009

70819149750, 2011

Question Number : 85 Question Id : 70819114917 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
E,?Edﬁd@ﬂ ‘e ©HFT Zood’ whacdz OR E.JO&E“% oS®wen ?

Options :

70819149747, 2005
70819149748, 2007
70819149749, 2009

70819149750, 2011



Question Number : 86 Question Id : 70819114918 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What is the full form of NHAI ? Choose the correct answer.

Options :
70819149751, National Horticulture Association of India.

70819149752. National Heritage Authority of India.

70819149753, National Hydroelectric Power Authority of India.

70819149754. National Highway Authority of India.

Question Number : 86 Question Id : 70819114918 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

‘NHAI' & Zerer ma:am& ¢ND ROOIRT e:oé:éamod o3 20.

Options :

20819149751, DLRET TRUFEIYT SARACRIT ST QOBOIR
70819149752, "5 TeOti VPO ST QORI
70819149753. RIS ﬁm@@ﬁ BT WPedEd vPF QYoroI®
20819149754, DORES Ty OTROE ST Q0B0IR

Question Number : 87 Question Id : 70819114919 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

How many Sustainable Development Goals were adopted by the United Nations ?
Options :

70819149755, 19

70819149756. 10
70819149757, 17

70819149758, 18

Question Number : 87 Question Id : 70819114919 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
DBFORO (KT SeEs) SvIBNRR0RDT YT eREh ROy Foon
RBRYHNG 9

Options :

70819149755, 15
70819149756. 10
70819149757, 17

70819149758, 18

Question Number : 88 Question Id : 70819114920 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



In which year, the first industrial policy by Government of India was announced ?
Options:
70819149759, 1947

70819149760, 1948

70819149761, 1950

70819149762, 1949

Question Number : 88 Question Id : 70819114920 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

$3003 ATWFOOOT RJRTO éejﬁ"-:&é Qed odns [ARFBY FeeamouE) ?
Options :

70819149759, 1947

70819149760, 1948

70819149761, 1950

70819149762, 1949

Question Number : 89 Question Id : 70819114921 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Planning of Barcelona city in Spain is known for its :
Options :

70819149763, Superblocks



70819149764, Tadial pattern

70819149765. high rise development

70819149766 waterbased TI'E!.I'ISPDI'T.

Question Number : 89 Question Id : 70819114921 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ATV woardeed IN0T odeerdody & $UND SRPYDE TADLTWACIRNG ?
Options :

ey ~ 67 el
70819149763, R0 TRFNWD

hj

SeRONSF TRITF
70819149764. 2

(MR

HRFOD DI
70819149765. w .

0T RFowoh3 ROT®

70819149766.

Question Number : 90 Question Id : 70819114922 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of these is not an industrial city ?
Options :

70819149767, Durgapur



ok AW iET
70819149768. Vishakhapatnam

70819149769, bhubaneshwar

70819149770, Bhilai

Question Number : 90 Question Id : 70819114922 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

& FIYAS CIT)Tw éejmf.}i:‘ ONo=Y ?

Options :

70819149767. CENTREIAD

LT
70819149768, =20 Ff®

ql.“ L ]
70819149769, Fo=oI0

70819149770, 22T

Question Number : 91 Question Id : 70819114923 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of these schemes / programmes by Government of India is linked to heritage cities ?
Options :
70819149771, AMRUT

70819149772, Make in India



70819149773, HRIDAY

70819149774, DAY

Question Number : 91 Question Id : 70819114923 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
5008 ATFOn & NS O odeendold FHTOZOT SNONEA F0W0HAT 9

Options :

S,
70819149771. =

70819149772, 0% BT BOBOIR

G alehy)
70819149773, ¥

AR e
70819149774, TOPO

Question Number : 92 Question Id : 70819114924 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the following south Indian states has the highest ground water utilization
(in percent) of its total groundwater potential ?

Options :
70819149775, Tamil Nadu
Karnataka

70819149776.

70819149777. Andhra Pradesh



70819149778, Kerala

Question Number : 92 Question Id : 70819114924 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
L) ©oZTWY Tedod, w8 B w0TuY WYL, 8 FINT oIy TE
030 0T IRBECIHIT 9
Options:
70819149775, SwP TR

70819149776, S0°F &3

sar wrlow
70819149777, SO0 BT

70819149778, S590F

Question Number : 93 Question Id : 70819114925 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Survey of India was established in :
Options :

70819149779, 1886
70819149780, 1876

70819149781, 1866



70819149782, 1896

Question Number : 93 Question Id : 70819114925 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

“TBF =T gololz”™ odowmen m@&ﬁmoﬂﬁa 9
Options :

70819149779, 1886
70819149780. 1876
70819149781, 1866

70819149782, 1896

Question Number : 94 Question Id : 70819114926 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

As per 73"d amendment act (73"4 CA A) 1992 first time one third (1/3) reservation for women
was provided in which of the following ?

Options :

70819149783, Lok Sabha

70819149784. State Legislative Assembly

70819149785, Cabinets

70819149786, Lanchayati Raj bodies



Question Number : 94 Question Id : 70819114926 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

O3ng 73 STHTB Tookd (73 CAA) 1992, NS olRTOY Bede wedh

D&YohOmen Medd LoTTE) (1/3) WeATONTY, WTNZTROND 9

Options :
S
70819149783, SREEALR

%ot Setdiien” ©iow
70819149784. « ™ e

= o= of=f
70819149785, D2V EE

TOWONT Tol¥ ol
70819149786.

Question Number : 95 Question Id : 70819114927 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Map Reading,

S Water body Market il
ﬁ?‘m Vegetation m Police Station Temple
E Railway Stn [I:I:I:I:I:III] Hospital i,

e 205
- 200

Street C

= 200

-----

1 || B 210
s

o
&

o Contour N

G School

With reference to the diagram, choose the correct statement.

Options :

70819149787.

70819149788.

70819149789.

70819149790.

Slope of land on which school is located is flatter than the slope of land on which
hospital is located.

SIOpe of land on which polico station is located is steeper than the slope of land on
which school is located.

Slope of land on which school is located is steeper than the slope of land on which
temple is located.

Slope of land on which school is located is the same as the slope of land on which
temple is located.

Question Number : 95 Question Id : 70819114927 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

- = - — =, —, T o
vfoﬁuél%ww:, el -V
o

dfsma&ga; Rowobasod, FooINT YUZTBE, TSR0,

Options :

=3ty el naty Mm@y T e Aty P HRNE T
20819149787, B oNMR HRa0DH QP i’;‘a::g ST0E REDOD 9L RON0E Naiaéh,:__ﬁd.

TpeOTF ,'ifSEE‘ QTNE  FREDON QPRTY, TG Q0E G 99HON03
70819149788, TR0NT.

FoSNLH FRNOD YL, W INDR FRD0D YPdN0E IBRTNT.
70819149789. s

RS enlev I ATO Ve VW=~ e M) Cﬂfﬁﬁ(ﬁﬁd&ﬁ RRIDOD P 0B

AnRRN0E.
70819149790. =



Question Number : 96 Question Id : 70819114928 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Map Reading,

-'.u
g o
; Y
i 2
H L.h i 2]0
’f.f*fr_f. ,,,,,,, 205
------ 200
Street C
200
f"’"‘
205
= 210
21

2 Water body Market Contour N
Vegetation % Palice Station Temple
E Railway Stn ”IIIHI[I Hospital ] School

[n the given diagram, for a person to travel from railway station to temple, one will have to
move in ~ direction.

Options:

70819149791, North

70819149792, North - East

70819149793, South - West

70819149794, East



Question Number : 96 Question Id : 70819114928 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

:f«.‘b-;:-:d-f‘-‘:: nw-"J-J :
gt 210
e 205
et 200
. 200
e 2005
210
A 205
EEEEGJ%J# MHHEEWW RO Ragr (mdzed)

BRK0T %30 TRT ), BFown Jed AeITR0T DeIMITBIN Foiweo LR
o a-&m ‘jcéoszjea 9

o b

Options:

30 OB,
70819149791. =2 o

VS0 -JRWF
70819149792. =

ode-Tdz0

70819149793, =

g2ls



TRTFE
70819149794,

Question Number : 97 Question Id : 70819114929 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Map Reading.

Street C

. 200

£ r Water body Market
5% Vegetation % Police Station

In the given diagram, water body is located at a level :

Contour N

Temple

W School

WL KR KKK
i
.

Options :
70819149795, 5 m higher than police station.

70819149796. 5 m higher than school.

70819149797, Same level as police station.



70819149798, Same level as school.

Question Number : 97 Question Id : 70819114929 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

-l'g & =

TEADUTETR, Newedd !
“,

E dedd, Hemaw

KT CesoeiZRY, DEOS RN (PUT WR) oINS PUBIIS ?

=

Options :

5a0¢. ZpeDTF FHeBZNA0I 5 oe. sdeds
70819149795. -

ARLTAOZ 5ane. znecd
70819149796. v

DpedaF ﬂeﬁ'&f a.;&,:-d 30
70819149797.



= . “gard Pt
70819149708, “RTD WHIT eS0T

Question Number : 98 Question Id : 70819114930 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The following pie-charts show the distribution of students enrolled in higher secondary and
in college education, with respect to the household income of their families.

Higher Secondary Education College Education

The ratio between the number of students from LIG household category studying at higher
secondary to those in college is :

Options:
70819149799, 4:1
70819149800. ! :°

70819149801, 6:1

70819149802, 1:4

Question Number : 98 Question Id : 70819114930 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



9NT &, T IETFIRY 950 HRoWRY oD SRR F0w0RITOE
NI maﬁm TonR TS égﬁ:@ D0 amﬁarn@ aézjﬁodasfq{ éuae@mgd.

(40%)
HIG
WIZ IRGDT 30 e 3

&*05543 ﬁﬁaﬁﬁ:ﬁ mcﬂo&@ mﬁﬁcﬁ mmim axai Q.03 2. (LIG) shadod
AW amﬁm%ﬂ :dosjdoda IR BRI :
Options :

70819149799, 41
70819149800, 12
70819149801, b :1

70819149802, 1:4

Question Number : 99 Question Id : 70819114931 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The surface area of earth is 510 million km?. The land area is thirty percent of total surface.
Urban land is three percent of total land surface. World population is 7.8 billion and fifty five
percent is urban population. Find the closest correct answer.

Options :

70819149803, The density of population in urban area is 1000 persons/sq.km.

20819149804. The density of population in urban area is 849 persons/sq.km.

20819149805, The density of population in urban area is 4290 persons/sq.km.



70819149806. The density of population in urban area is 7800 persons/sq.km.

Question Number : 99 Question Id : 70819114931 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

wwodJ Bed,; QAeFsy 510 IORT 3.ae 7. k) shed 3 30% RnoE

dwarﬁd LD B Tdesn 3% IS "“drfﬁa?ﬁdﬂd -:..15 e Odde.u
F.8 a‘&@od:a‘ SNTD, YTTY 5% INC &% oaiod}“ﬁdﬁd et mcm 3OTEEBOO.
Options :

INCE BOORBY wIR0BOD TOTIOLO 1000/3.50¢.2 .
70819149803. '

o ':" - o g s o 2!.""""
20819149804 INT BOoDTY wIHOBOH WOTIOIN 849/8.20¢.%[T.

SN0 BOoNTY HTR0B0D TOTZ OO 4290/ 3.200¢.2 BT.
70819149805. ™ o

SN0 Hoohtd zEFoLBod TomBodn 7800/ 8..0e.2 9.
70819149806. = 3 =

Question Number : 100 Question Id : 70819114932 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Population of city A, B and C from 1981-2011.

C I
2011 B |
A
C
2001 B
A
C |
1991 B |
A
C |
1981 B |
l I l I I
0 1 1 1 1 1

5,000 10,000 15,000 20,000 25,000
Choose the correct statement :

Options :
City A shows the increase in population from 1981 to 2011 and city C does not show
70819149807. the increase likewise.

= ity B shows a continuous decline in populafion from 1981-2011 whereas city A shows

70819149808 an Increase.

Popu[atinn in city A is increasing in each decade from 1981 to 2001 whereas city B

70819149809 shows a decline from 1981 to 1991 and then it increases from 1991 to 2001.

C ity C shows continuous decline in populatinn invarious decades whereas city B shows

70819149810. increase.

Question Number : 100 Question Id : 70819114932 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Population of city A, B and C from 1981-2011.

8
2011 B |
A

2001 B
A

C
1991 B |

1981 B |

5,000 10,000 15,000 20,000 25,000

0

TOCIRT WRITWI, MRTREA0

Options :
‘A’ SN0 1981 00T 20110 T &IR0L, Ancks (TeY) B2, 30T, T
0eé ‘C' BTy w30, AL (VYY) a-j«.) 3RO

70819149807. ®
B’ In0sy 1981 00T 20113 &3 AN &IAOLOD Q9STR, SROWIT.
800, ‘A’ INTw) %o oai Anees (mzs‘@) D, é’nmu"‘#d

70819149808.
A’ INCTY  ®IX oaiod.u 1981 00T 20010 307 [E TITTY mﬂ@a‘r“w
38, ‘B 'jﬁd@ 1981 603 19913 S o3 GadeJ'U rﬂ@:am ém”‘_ﬁd
B 1991 007 2001 T =T =IToaS, Awewd (ng%ﬂ} m é.mb:au

70819149809. = fi= - 2
'C' 3Ny AZSmen el e TIINYY %TR0L, AYSVR, SROWIT.  ©UT,
B S0 008 (J¢) S, é.rrw*“#d

70819149810.

Question Number : 101 Question Id : 70819114933 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



[nasurvey, the speeds of 100 vehicles were observed. The following table gives the distribution
of vehicle speed and the corresponding number of vehicles.

Vehicle Speed (kmhr~) No. of Vehicles
20 6
25 20
28 24
29 28
33 15
38 4
40 2
45 1

The median speed of the vehicles is :
Options :

3 1
70819149811, 26 kmhr

70819149812, 21.5 kmhr ™!

70819149813, 30 kmhr™!

|
70819149814, 28> kmhr

Question Number : 101 Question Id : 70819114933 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



weéoimddw 100 @B ane ﬁmm ﬁamvﬁ:ﬁ 3 FPNT tewef, wEang
ﬁeﬁd uﬁdrodfﬁﬁ aﬁ.;aj B oajm':u ww*‘*#cﬁ

Vehicle Speed (kmhr ™) No. of Vehicles
20 6
25 20
28 24
29 28
33 15
38 4
40 2
45 1

The median speed of the vehicles is :
Options :

- 1
70819149811, 26 kmhr

70819149812, 21.5 kmhr !

70819149813, 30 kmhr™!

1
70819149814, 28> kmhr

Question Number : 102 Question Id : 70819114934 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Hundreds of Shanty towns line the river banks, train tracks, and garbage dumps in the
Filipino capital. Around a quarter of its 12 million are considered ‘informal settlers’. Manila
is starkly representative of a global problem. According to the United Nations, about a quarter
of the World's urban population lives in slums.

Slum tourism takes outsiders through their most impoverished marginalized districts. Slum
tourism sparks considerable debate around an uncomfortable moral dilemma. Many consider
the practice little more than slack-jawed privileged people gawking at those less fortunate.
Others argue they raise awareness and provide numerous examples of giving back to the
local communities.

Which of the oﬂowmg best jusfif}-' ‘Slum Tourism’ in the above paragraph ?



Options :

70819149815, Asa d‘ua_rit}-' hw, privﬂeged penple.

70819149816. As a way to reduce crime.

As a wav to sensiltize travellers about poor living conditions in the society.
70819149817, ) p & )

70819149818, As an adventure activity.

Question Number : 102 Question Id : 70819114934 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Hundreds of Shanty towns line the river banks, train tracks, and garbage dumps in the
Filipino capital. Around a quarter of its 12 million are considered ‘informal settlers’. Manila
is starkly representative of a global problem. According to the United Nations, about a quarter
of the World's urban population lives in slums.

Slum tourism takes outsiders through their most impoverished marginalized districts. Slum
tourism sparks considerable debate around an uncomfortable moral dilemma. Many consider
the practice little more than slack-jawed privileged people gawking at those less fortunate.
Others argue they raise awareness and provide numerous examples of giving back to the
local communities.

Which of the ollowmg best jusfif}-' ‘Slum Tourism’ in the above paragraph ?

Options :

70819149815, Asa d'na_rit}-' ‘m, privﬂeged people.

70819149816. Asa way to reduce crime.

As a wav lo sensilize travellers about poor living conditions in the society.
70819149817. 3 P & 3

70819149818, As an adventure activity.

Question Number : 103 Question Id : 70819114935 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Hundreds of Shanty towns line the river banks, train tracks, and garbage dumps in the
Filipino capital. Around a quarter of its 12 million are considered ‘informal settlers’. Manila
is starkly representative of a global problem. According to the United Nations, about a quarter
of the World's urban population lives in slums.

Slum tourism takes outsiders through their most impoverished marginalized districts. Slum
tourism sparks considerable debate around an uncomfortable moral dilemma. Many consider
the practice little more than slack-jawed privileged people gawking at those less fortunate.
Others argue they raise awareness and provide numerous examples of giving back to the
local communities.

The nearest meaning of ‘Gawking’ in this paragraph would be :
Options :

70819149819, Learning

70819149820, “taring

70819149821, feeping

70819149822, Gloating

Question Number : 103 Question Id : 70819114935 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Hundreds of Shanty towns line the river banks, train tracks, and garbage dumps in the
Filipino capital. Around a quarter of its 12 million are considered ‘informal settlers’. Manila
is starkly representative of a global problem. According to the United Nations, about a quarter
of the World's urban population lives in slums.

Slum tourism takes outsiders through their most impoverished marginalized districts. Slum
tourism sparks considerable debate around an uncomfortable moral dilemma. Many consider
the practice little more than slack-jawed privileged people gawking at those less fortunate.
Others argue they raise awareness and provide numerous examples of giving back to the
local communities.

The nearest meaning of ‘Gawking’ in this paragraph would be :
Options :

70819149819, Learning



70819149820, tAring

70819149821, eeping

70819149822, Gloating

Question Number : 104 Question Id : 70819114936 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R.

Assertion A: Over the last two decades collective attention span is decrea@ing.

Reason R : Quick availability and rapid access to large amount of information leads to loss of
interest in one topic very quickly.

[n the light of the above statements, choose the correct answer from the options given below :

Options:
70819149823, Both A and R are true and R is the correct explanation of A
70819149824, Both A and R are true but R is NOT the correct explanation of A

70819149825, A\ 1s true but R is false

A is false but R is true
70819149826.

Question Number : 104 Question Id : 70819114936 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R.
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Question Number : 105 Question Id : 70819114937 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R :

Assertion A : In past two decades, rate of divorce has increased in India.

Reason R : Increasing number of married couples do not want to have children.

In the light of the above statements, choose the correct answer from the options given below :
Options :

70819149827. Both A and R are true and R is the correct explanation of A

70819149828, Both A and R are true but R is NOT the correct explanation of A

70819149829. A is true but R is false



70819149830, A 18 false but Riis true

Question Number : 105 Question Id : 70819114937 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two slatements : one is labelled as Assertion A and the other is labelled as
Reason R :

TImAT A 390 2078900, RUBRY Qi ety Tmnrnd B¢ soRw 0.
OO R: BUERTDSWE LS DOBENOT T WedINT.
8 xdd Sevdod woeon Hed ZOIRT WETID, NI woﬂ:éﬁ@cd S0%0.

Options :
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SectionId: 708191539
Section Number : 5
Section type: Offline
Mandatory or Optional : Mandatory
Number of Questions : 2
Number of Questions to be attempted : 2

Section Marks : 100



Mark As Answered Required? : Yes

Sub-Section Number : 1
Sub-Section Id : 708191819
Question Shuffling Allowed : No

Question Number : 106 Question Id : 70819114938 Question Type : SUBJECTIVE
Correct Marks : 50

Draw a proportionate skelch of given reference image by using any black and white rendering
todmiques of your own choice.

OR

Decode image and prepare balanced composition in a frame of your choice by using any
black and white rendering techniques.
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Question Number : 106 Question Id : 70819114938 Question Type : SUBJECTIVE

Correct Marks : 50
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Question Number : 107 Question Id : 70819114939 Question Type : SUBJECTIVE

Correct Marks : 50

Draw a scene of a Kite festival by using colors.
OR
Draw a Harmonic three dimensional composition with the following two types of objects.
(i) CUBOID A :SIZE 2 cmX 2 ¢cm X2 cm, 5 Nos.
(i) CUBOID B :SIZE5 ecmx2 cmx 2 cm, 4 Nos.

Use “Cool Colorscheme” for composition.

Question Number : 107 Question Id : 70819114939 Question Type : SUBJECTIVE

Correct Marks : 50
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(i) FI ‘A:9¢32cm x 2em X 2em - 5 nos.
(i) F& B :©¥35cm x 2em X 2cm - 4 nos.
Roodpendn 2o wandd wwamoleeny.



